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BCQ/D-21 26606
COST ACCOUNTING

Paper–BC-501

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory.
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1. Explain the following :

(a) Performa of cost sheet.

(b) Cost classification according to normality.

(c) Types of responsibility centres.

(d) EOQ.

(e) Time keeping and time booking. (5×4=20)
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2. Define Cost accounting. What are the techniques of cost

accounting? Explain advantages of cost accounting. 15
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3. Krishan Enterprises produces 1000 boxes every month. Raw

material is purchased at the rate of Rs. 10 per unit of finished

product. Its ordering cost is Rs. 400 each order and other

costs are as follows :

(a) Interest 2% p.a.

(b) Godown rent Rs. 150 p.m.

(c) Insurance Premium 3.6% on policy of Rs. 1,00,000.

(d) Wastage, theft etc. 1% p.a.

Find out :

(i) Carrying Cost per Unit.

(ii) Reorder Quantity.

(iii) Total Inventory Cost. 15
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4. What do you mean by Normal Loss, Abnormal loss and

Abnormal gain? Explain their characteristic also. How are

these treated in cost accounting? 15
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5. (a) What is Perpetual Inventory System?

(b) What are the merits and demerits of FIFO method of

material issue? 15
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6. Shubham enterprises has three manufacturing departments

'A', 'B' and 'C' and one service department 'S'. The ahead

particulars are available for one month of 25 working days
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of 8 hours each day. All departments work all days with full

attendance

Expenses Total Production Service
Rs. Deptt. Deptt

A (Rs.) B (Rs.) C (Rs.) S (Rs.)

Power and Lighting 1100 200 300 360 240

Supervisor's Salary 2000 – – – –
Rent 500 – – – –

Welfare Expenses 600 – – – –

Other Expenses 1200 200 400 400 200
Supervisor's Salary 30% 30% 20% 20%

No. of workers 3 4 2 1

Floor area sq. meter 60 80 60 50
Service rendered by 50% 30% 20%
Service deptt. to

production Deptt.

Calculate the labour hour rate of the deptts A, B and C.
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7. A contractor has undertaken a contract for Rs. 2,50,000 and
started work on 1st January, 2015. The following particulars
of the contract are upto 31 December, 2015.

Particulars Rs.

Materials sent to site 85,349
Labour paid 74,375

Plant purchased 15,000
Direct expenses 3,169
Establishment charges 4,126

Materials returned to stores 549
Work certified 1,95,000
Cost of work uncertified 4,500

Material at site (31.12.2015) 1,883
O/s Wages 2,400
O/s Direct expenses 240

Plant value on (31.12.2015) 11,000
Cash received 1,80,000

Prepare Contract A/c, Contractee A/c, and show items in
balance sheet.
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8. The details regarding composition and the weekly wage rate

of labour force engaged on a job scheduled to be completed

in 30 weeks are as follows :
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Category of workers Standard Actual

No. of Weekly wage No. of Weekly Wage

labours rate (Rs.) labours Rate (Rs.)

Skilled 15 300 14 350

Semi Skilled 9 200 6 250

Unskilled 12 150 16 100

The work is actually completed in 32 weeks. Calculate the
various labour variances.
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9. Define cost audit. Discuss different types of cost audit. What
is the significance of cost audit? 15
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